*

1
]
]
________ J
ST ST - LT - S (=9t EXHH %)
------------ = 312] 55 1§| 6 842|) T T T T 008, 08, 20 BAY (221721
7IBA HE T IR K15 ~ 843) B | zime
7IEA HIE S SIS ST
SEEEERERR =t RIOLA 94 61
q 2= = & | SEs x}ggapl%ﬂA e 86
7|&E0} & 201 107 o o Bjor2nka| 7| SA} 55 1
7|)“X”J_t‘k7|§/\|'AA 654 369 ;} ) LS EER| 7| A 243 148
LH17 | A|H17 | SAL Son 382 3 7 e 1
ZRUE)|H|7 | EAH 580 276 HETA| ST s Sy
UM | A7 [ &AL 188 81 P i‘le—ﬁl”-{&%gjlgA} 335
27| A 52 36 3 = = LM 950 =
TRAM|7|2A} 88 S gt 364
71 A 7S84 205 VEREN! 134
2F7|&A} 1 23 A= 265 ]
=87| 24 = 2% A7 | &M 129 3
HT A2 | 2A} . 8 = HE K= |2k . 569 287
(HUZXT|2AD) 2738 1,402 IH g A= o x|E|E e 614
g 6 2 g A s 2
o7 EA " ! ESSIE 115 n
HIZORS7ISAL 210 i NEREN 108 15
=527 %ﬁ 51 ii M| 2A = 21
o & EF_V@”%M 73 5 2 B 38 3
2B 71 M2U0l|7| A} 122
S =A} 6 A0S 449
H| TR HAD | 484 17 i A e
&t A 523 333 2] y 51 o
o7 |
31Z7|A 10 23 ﬁ%ﬁﬂ%ﬂ a8 ;
e | MEtel7 | £AF 563 356 7-{\_.;: 29 :
Ml 2 al 5 Al 506 306 ot {27 |&A 3 1
ZAf 6 ° A 7R | A} 48
eSS 100 8 A= 162
I|287|2At 7 35 o A r g 4
;g_;_{k_liﬂ%ﬂ'/\ 611 408 HEC|XFRI7 | =A g 4
i USH7| 87| EA} 64 ] sejeixiol R 448 65
M| HE7 |2 1,352 882 EpTETTEpIEYN o o
5 . 58 = A}
B 100 SPARM TR 2 84
NEEEHEIY % 19| ofldx| ;A“ A 539 -
ﬁxf%—g?l%ﬂ 35 19 e 161 -
M xt XA AT |7 | AL 161 % -ﬁL;7AM m e
& H 207 SEeify| . 204
2 430 oL | 2 AL 377
HEEAT| A} 430 207 HI|ekN % 839
5Ty 222 108 ag%ﬁﬂaﬂw 198 .
EXSHIEST s 108 [ R o 166
z M t A 7 10 | Al | @A} 2] 36
DI [H 7| A} 53 16 7h2(cAS)7 | SAk 5 13
8 3 | gzvwlaa 100 2 2IZkBS}7 | 2A} 2.9 758
T lw A 920 e g 200 99
EZ 9l 7|X7|&A 1.055 447 TR N
ESTRI|EA ']86 121 g :T,Lauléﬂ 268 o
8ot 3 sfoty| &AL . 444 2 i 167
S 25| 2A} ag 4 2BUESI|E 204 79
£2 3 2| 226 b9 7| 2x27| A 17
- 7| 2A} 147 7 H7|2X2]7| & 80
)| 336 g & 51427 | SA} g
=y oy T TN 255 APz 53
TARE/NE 557 orakzi7| A} 438
E = | usemoizsit 235 106 EoralA 57
S0{HEST|2A 6,253 2,157 st 74[A 160 76
ESA|Z7|2AF 248 100 DR 7 | SAF o6 67
Egggﬁﬁﬁigyéik 168 149 ZR 37| 2A} 1 18
=2 X A¥SE 11,259 4,469 A9 | EEUIEA i 159
= A 701 = ME7|sA 0
& 789 o o MEJE 11
AETEI[ZAF 891 530 S S N ERIES 320
A= A gs | mass s 1.081 2
£ | nzamr|sl e 92 S ' 378 ‘
T < 2
4= HEZIA |37 |2Al 3776 DE7|EA 374 8
HESTA 8,773 ; = % A
5 A 2 13 = = g \ s
AP | 2AF 55 21 o o\ A3t 7| &A
NEESPIPT b 12 P72 2|7 :
=
AN IT | 2 A o 3 A 34,555 14,53
8% | omlzk g " 2
(MALZ|=AD 122 66
= 71' 83

2008. 9



